
　反射テスト　割合　倍率　02

1. 　次の 　　 をうめよ.（ S級 25秒, A級 45秒, B級 1分 10秒, C級 2分 ）

（1）　 15は 3の 　　 倍である. （2）　 200は 10の 　　 倍である.

（3）　 1200は 100の 　　 倍である. （4）　 24は 6の 　　 倍である.

（5）　 6は 12の 　　 倍である. （6）　 100は 40の 　　 倍である.

（7）　 18は 45の 　　 倍である. （8）　 14は 84の 　　 倍である.

（9）　 54は 12の 　　 倍である. （10）　 100は 125の 　　 倍である.

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　
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2. 　次の 　　 をうめよ.（ S級 25秒, A級 45秒, B級 1分 10秒, C級 2分 ）

（1）　 18は 3の 　　 倍である. （2）　 300は 10の 　　 倍である.

（3）　 1900は 100の 　　 倍である. （4）　 24は 8の 　　 倍である.

（5）　 6は 24の 　　 倍である. （6）　 150は 40の 　　 倍である.

（7）　 24は 54の 　　 倍である. （8）　 28は 70の 　　 倍である.

（9）　 30は 18の 　　 倍である. （10）　 100は 175の 　　 倍である.

c⃝ 数学・算数を楽しむために（ http : //www.enjoymath.sakura.ne.jp/index.html ）　
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　反射テスト　割合　倍率　02　解答解説
1. 　次の 　　 をうめよ.（ S級 25秒, A級 45秒, B級 1分 10秒, C級 2分 ）

（1）　 15は 3の 5 倍である.

15÷ 3 = 5

（2）　 200は 10の 20 倍である.

200÷ 10 = 20

（3）　 1200は 100の 12 倍である.

1200÷ 100 = 12

（4）　 24は 6の 4 倍である.

24÷ 6 = 4

（5）　 6は 12の 1

2
倍である.

6÷ 12 = 1
2

（6）　 100は 40の 2
1

2
倍である.

100÷ 40 = 5
2

= 2 1
2

（7）　 18は 45の 2

5
倍である.

18÷ 45 = 2
5

（8）　 14は 84の 1

6
倍である.

14÷ 84 = 1
6

（9）　 54は 12の 4
1

2
倍である.

54÷ 12 = 9
2

= 4 1
2

（10）　 100は 125の 4

5
倍である.

100÷ 125 = 4
5
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2. 　次の 　　 をうめよ.（ S級 25秒, A級 45秒, B級 1分 10秒, C級 2分 ）

（1）　 18は 3の 6 倍である.

18÷ 3 = 6

（2）　 300は 10の 30 倍である.

300÷ 10 = 30

（3）　 1900は 100の 19 倍である.

1900÷ 100 = 19

（4）　 24は 8の 3 倍である.

24÷ 8 = 3

（5）　 6は 24の 1

4
倍である.

6÷ 24 = 1
4

（6）　 150は 40の 3
3

4
倍である.

150÷ 40 = 15
4

= 3 3
4

（7）　 24は 54の 4

9
倍である.

24÷ 54 = 4
9

（8）　 28は 70の 2

5
倍である.

28÷ 70 = 2
5

（9）　 30は 18の 1
2

3
倍である.

30÷ 18 = 5
3

= 1 2
3

（10）　 100は 175の 4

7
倍である.

100÷ 175 = 4
7
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